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Example 1: Perimeter and Area of Rectangles

Find the perimeter and area of a rectangle whose length /is 14 ft and whose
width wis 9 ft.

Required formulas: P=2/+2wandA=/,w=_[w

P=2(14) + 2(9) = 28 + 18 = 46
A =9(14) = 126

The perimeter of the rectangle is 46 ft and the area is 126 ft2. Please note
that the area units are squared.



Example 2: Perimeter of Rectangles

A farmer wants to build a rectangular pen for his sheep using his barn as one
side. The barnis 30 ft long. If only 110 ft of chain link fencing is available at the
lumber yard, what is the length that each side adjacent to the barn can have?

Sometimes is is a good idea to draw a picture. How about the following?

30ft

¢ Barn

We will use the formula P = £ + 2w because one side of the pen is the barn! Given

that we have 110 ft of chain link fence, and the barn is 30 ft long, we can write the
formula as follows:

110=30 +2w
80 = 2w Now we will divide both sides by 2!
w =40

Therefore, the length of each side adjacent to the barn must be 40 ft.



Example 3: Perimeter of Rectangles

An amateur gardener would like to erect a rectangular fence around her flower

garden. The enclosure is to be 12 yd long and 15 yd wide and the fence costs $1.50
per foot. How much will she have to pay for the fence?

For this calculation, we will use the perimeter formula P =2/ + 2w to find out how
much fence is needed. We know that /=12 and w = 15.

Then P=2(12)+ 2(15) = 54 yd

We know that the fence costs $1.50 per foot, therefore, we will first have to change
the yards to feet because the price for the fence is quoted per foot.

We know that 1 yd = 3 ft. Therefore, 54 yd equals 54(3) = 162 ft
Now, we can calculate the cost C for the fence as follows:
C=162(1.50) =243

The gardener must pay $243 for the new fence around her flower garden.



Example 4: Area of Rectangles (102

Find the area of the following figure.

41in
oo
10 in
10 in
21in H
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We will use the formula A = / w! Here, we must divide this figure into 2 rectangles
and find the area of each. You can divide the figure in two different ways.



Example 4: Area of Rectangles (20f2)

o The dashed red line is 2 in long.
il Area R1 =2(10) =20
10 in Area R2=4(10+2) =48
. O v
2in [ R+ Total Area =20 + 48 = 68
f"’c The dashed red line is 4 in long!
101in - Area R1=2(10+4) =28
10in | Area R2 = 4(10) =40
2in [ RT | Total Area = 28 + 40 = 68

In either case, the total area of the given figure is 68 in?. Please note that the
area units are squared.



Example 5: Perimeter and Area of Squares
Find the perimeter and area of a square that measures 5 cm on a side.

Required formulas: P=4sand A = s2.

P =4(5) =20
A=52=25

The perimeter of the square is 20 cm and the area is 25 cm?. Please
note that the area units are squared.



Example 6: Area of Parallelograms

Find the area of a parallelogram with base b = 30 ft and height is h = 18 ft.
Required formula: A = bh, where h is the height and b is the base
A =30(18) =540

The area of the parallelogram is 540 ft?>. Please note that the area units
are squared.



Example 7: Area of Trapezoids

Find the area of the given trapezoid. The unit of measure is yards.
6

A

8

Required formula: A = Th (b, +b,)
A=15(2)(6+8)=14

The area of the trapezoid is 14 yd?. Please note that the area units are
squared.



Example 8: Area of Triangles

A parking lot is in the shape of a triangle with base 6.2 m and height 10 m.
What is the area of the parking lot?

Required formula: A = T bh
A= 7(6.2)(10) = 31

The area of the triangular parking lot is 31 m?. Please note that the area
units are squared.



